Kamber EN

Kit de réparation simple 2050 KAMBER
Einfacher Reparatursatz 2050 KAMBER

Simple repair kit 2050 KAMBER
Juego de reparacion simple 2050 KAMBER



Kamber

EJ MAKES THE PERFECT LINE

2012

Joint PTFE
Dichtung
Gasket

Junta de PFTE

2014

Manchette GACO
Kolbenmanschette GACO
GACO U-cup for piston
Guarnicion GACO para piston

2024

Vis d’arrét aiguille M3-3
Verschlussschraube Nadel M3-3
Clamp-screw for needle M3-3
Tornillo de bloqueo aguja M3-3

2047 (4x)

Filtre grille @ 7 mm
Filter @ 7 mm

@ 7 mm filter

Filtro @ 7 mm

2048

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca

2060

Joint nylon sur axe piston
Nylondichtung auf Achse
Nylon gasket on guide valve
Junta nylén sobre eje pistén

2061

Joint cuivre sur axe piston
Kupferdichtung auf Achse
Copper gasket on guide valve
Junta cobre sobre eje piston




Kamber

EJ MAKES THE PERFECT LINE

~
o
y\

0@ Te

2062 (2 x)

Joint cuivre entre 2006/4024 et corps
Kupferdichtung zw.2006/4024 und Korper
Copper gasket betw. 2006/4024 and body
Junta cobre entre 2006/4024 y cuerpo

2063

O-Ring en Teflon
O-Ring aus Teflon
O-Ring in Teflon
O-ring en Teflén

8018

Guide pour téte
Pistolenkopf-Flihrung

Guide for the head of the gun
Guia cabeza pistola

8046

Joint nylon entre corps et téte
Nylondichtung zw. Pistolenkérper u. Kopf
Nylon gasket between body and head
Junta nilén entre cuerpo y cabeza

8058 (8059 + 2 x 8060 + 8061)
Jeu de joints aiguille
Dichtungssatz fur Nadel
Needle packing gasket

Juego de junta aguja

8062

Serre-joint pour 8058
Stopfblchse fir 8058
Needle packing nut for 8058
Abrazaderas para 8058

8093

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca




Kamber EN

KAMBER SA "
Chemin des Champs-Courbes 19 L

CH-1024 Ecublens

Tel.: +41 21 691 69 51
info@kambersa.ch




Kamber EN

Kit de réparation complet 2051 KAMBER
Kompletter Reparatursatz 2051 KAMBER

© Kamber o

Complete repair kit 2051 KAMBER
Kit de reparacion completo 2051 KAMBER



Ka

mber

EJ MAKES THE PERFECT LINE

2

2006

Ecrou serre-joint bras levier
Stopfblchse zu Uebertragungshebel
Nut for the center lever arm

Tuerca abrazaderas

201

Axe soupape, longueur 34 mm
Ventilachse, Lange 34 mm
Guide valve, length 34 mm
Eje valvula, longitud 34 mm

2012

Joint PTFE
Dichtung
Gasket

Junta de PFTE

2014

Manchette GACO
Kolbenmanschette GACO
GACO U-cup for piston
Guarnicion GACO para piston

2017

Bille inox. @ 10 mm pour soupape
Rostfreie Ventilkugel @ 10 mm
Stainless steel valve ball @ 10 mm
Bola inox @ 10 mm para valvula

'GQ«"‘ T ),))»H

@@y

2018

Ressort piston
Kolbenfeder
Piston spring
Muelle pistén

2019

Ressort soupape
Ventilfeder

Valve spring
Muelle valvula

2020

Ressort pour aiguille
Nadelfeder

Needle spring
Muelle aguja

2024

Vis d’arrét aiguille M3-3
Verschlussschraube Nadel M3-3
Clamp-screw for needle M3-3
Tornillo de bloqueo aguja M3-3

2047 (4 x)

Filtre grille @ 7 mm
Filter @ 7 mm

@ 7 mm filter

Filtro @ 7 mm

2048

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca



K

mber

EJ MAKES THE PERFECT LINE

2060

Joint nylon sur axe piston
Nylondichtung auf Achse
Nylon gasket on guide valve
Junta nylon sobre eje piston

2061

Joint cuivre sur axe piston
Kupferdichtung auf Achse
Copper gasket on guide valve
Junta cobre sobre eje piston

2062 (2 x)

Joint cuivre entre 2006/4024 et corps
Kupferdichtung zw.2006/4024 und Koérper
Copper gasket betw. 2006/4024 and body
Junta cobre entre 2006/4024 y cuerpo

2063

O-Ring en Teflon
O-Ring aus Teflon
O-Ring in Teflon
O-ring en Tefléon

8018

Guide pour téte
Pistolenkopf-Fihrung

Guide for the head of the gun
Guia cabeza pistola

0@ v

8019

Vis inox pour fixation téte

Schraube rostfr. Befestig. Pistolenkopf
Screw to fasten the head

Tornillo inox fijacion cabeza pistola

8046

Joint nylon entre corps et téte
Nylondichtung zw. Pistolenkérper u. Kopf
Nylon gasket between body and head
Junta nilén entre cuerpo y cabeza

8058 (8059 + 2 x 8060 + 8061)
Jeu de joints aiguille
Dichtungssatz fur Nadel
Needle packing gasket

Juego de junta aguja

8062

Serre-joint pour 8058
Stopfblchse fir 8058
Needle packing nut for 8058
Abrazaderas para 8058

8093

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca



Kamber EN

KAMBER SA "
Chemin des Champs-Courbes 19 L

CH-1024 Ecublens

Tel.: +41 21 691 69 51
info@kambersa.ch




Kamber EN

Kit de réparation complet 2052 KAMBER
Kompletter Reparatursatz 2052 KAMBER

© Kamber o

Complete repair kit 2052 KAMBER
Kit de reparacion completo 2052 KAMBER



mber

EJ MAKES THE PERFECT LINE

2006

Ecrou serre-joint bras levier
Stopfblchse zu Uebertragungshebel
Nut for the center lever arm

Tuerca abrazaderas

2011

Axe soupape, longueur 34 mm
Ventilachse, Lange 34 mm
Guide valve, length 34 mm
Eje valvula, longitud 34 mm

2012

Joint PTFE
Dichtung
Gasket

Junta de PFTE

2014

Manchette GACO
Kolbenmanschette GACO
GACO U-cup for piston
Guarnicion GACO para piston

2017

Bille inox. @ 10 mm pour soupape
Rostfreie Ventilkugel @ 10 mm
Stainless steel valve ball @ 10 mm
Bola inox @ 10 mm para valvula

2018

Ressort piston
Kolbenfeder
Piston spring
Muelle pistén

(@it

(@@@y

2019

Ressort soupape
Ventilfeder

Valve spring
Muelle valvula

2020

Ressort pour aiguille
Nadelfeder

Needle spring
Muelle aguja

2024

Vis d’arrét aiguille M3-3
Verschlussschraube Nadel M3-3
Clamp-screw for needle M3-3
Tornillo de bloqueo aguja M3-3

2047 (4 x)

Filtre grille @ 7 mm
Filter @ 7 mm

@ 7 mm filter

Filtro @ 7 mm

2048

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca

2055

Douille pour montage 2014
Montageblchse fiir 2014

Mounting sleeve for 2014
Casquillo de montaje para N° 2014



K

mber

EJ MAKES THE PERFECT LINE

2060

Joint nylon sur axe piston
Nylondichtung auf Achse
Nylon gasket on guide valve
Junta nylon sobre eje piston

2061

Joint cuivre sur axe piston
Kupferdichtung auf Achse
Copper gasket on guide valve
Junta cobre sobre eje piston

2062 (2 x)

Joint cuivre entre 2006/4024 et corps
Kupferdichtung zw.2006/4024 und Koérper
Copper gasket betw. 2006/4024 and body
Junta cobre entre 2006/4024 y cuerpo

2063

O-Ring en Teflon
O-Ring aus Teflon
O-Ring in Teflon
O-ring en Tefléon

8018

Guide pour téte
Pistolenkopf-Fihrung

Guide for the head of the gun
Guia cabeza pistola

0@ v

8019

Vis inox pour fixation téte

Schraube rostfr. Befestig. Pistolenkopf
Screw to fasten the head

Tornillo inox fijacion cabeza pistola

8046

Joint nylon entre corps et téte
Nylondichtung zw. Pistolenkérper u. Kopf
Nylon gasket between body and head
Junta nilén entre cuerpo y cabeza

8058 (8059 + 2 x 8060 + 8061)
Jeu de joints aiguille
Dichtungssatz fur Nadel
Needle packing gasket

Juego de junta aguja

8062

Serre-joint pour 8058
Stopfblchse fir 8058
Needle packing nut for 8058
Abrazaderas para 8058

8093

O-ring centre levier

O-ring zu Ubertragungshebel
O-ring for the center lever
O-Ring para brazo palanca



Kamber EN

KAMBER SA "
Chemin des Champs-Courbes 19 L

CH-1024 Ecublens

Tel.: +41 21 691 69 51
info@kambersa.ch




